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DATA AND CALCULATTONS TABLES
DATA TABLE |

TRIAL X

Mass of meterstick kg

ke ke

Location of center of gravity

Location of meterstick support

Mass required for equilibrium kg

kg kg

Location of required mass

CALCULATIONS TABLE |
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Weight of required mass

Torque arm for required mass

Weight of meterstick, actual

Torque arm for weight of meterstick

Torque produced by required mass |

Weight of meterstick, experimental

| Absolute error |

Relative error
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Show the calculations for Trial 1 in the spaces provided below. Enter the results of the calcula-
tions for all trials in Calculations Table I. (Tables for the data and calculations for Procedure 2 of
the experiment are not provided. Set up the tables for Procedure 2 on a separate sheet of paper
and submit it with this report.)

1. Calculate the weight of the required mass and of the meterstick.

2. Find the torque arm for the required mass and calculate the torque produced by the mass,
using the location of the meterstick support as the pivot point.

3. Find the torque arm for the weight of the meterstick and calculate the force required at the
center of gravity of the meterstick to produce equilibrium.

4. Compare the force you calculated in No. 3 with the actual weight of the meterstick. Record
the difference as the absolute error. Calculate the relative error.

QUESTIONS

1. Does the accuracy of your results in finding the weight of the meterstick improve when the
knife-edge support is placed farther from the center of gravity? Explain.

2. Under what conditions would it be impossible to produce equilibrium in this experiment
with the addition of a single mass?
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HRW material copvriahted under notice appearing earlier in this work.




